3000 AAME 3200 AGAAMNLE 0 3220 FFFFE] 3222 FAUIFIET 0 110 AN 101 <1zim]
e =5
o AF o At = 7] =
A8} Al Al & =
?%%227]0‘%% 2,316,028
173%;04]@ 254,828
}?}%H] 28,766
1?5)1@] 28,766
17,951 |09 4 &2
OFAFA A 15 (=17,951)
— 7|5 34,300¢1 * 17 * 2504 = 8,575
—dols 8,575,000 * 4/12 = 2,859
- FEFETd 34,3009 * 17 * 529 = 1,784
— 3244 6,000 = 209 = 12¢ = 1,440
— A7k Y 3,179 * 35A1%F + 129 = 1,336
— 2&TArE 8,575,000 * 0.1 = 858
— 97} R ] 34,3009 = 18¢Y = 618
— 2] S$-7) M u] 16,030,000¢) * 3% = 481
10,815 |10 € AJAFS 1<)
O719 4 AF2AF 2[4kl 174
36,0509 = 159 = 209 = 10,815




3000 ZAAME 3200 AGAAANT 3220 FFHFdE 3222 FAVANST 120 ABAAA¥ 201 REYGH]|
il - o AF o s = 7] *
A& A A3 =
173)% 47 226,062
%Eo}li%og H] 105,452

81,572 |01 AW

OLdRkE-gn] FH a4k (=38,772)

— A ukg=g-v] 20,312,0009 = 20,312
-+ 1,560,000¢ = 1,560
—FFoT 9D AA 6,400,0009) = 6,400
] 10,500,0009) = 10,500

Sk A A Al =} 4,000¢) * 5,000% = 20,000

=
— A AT F7RAA SR A=

7,000,000 * 33] = 21,000
— Al $-2 a1 CEO sl #) <} 1,800,000¢ = 1,800
23,880 (02 SPALL-FH]
OF-8 % FAF HAA v (=5,380)
—ZY7t= A= 60,0009 * 1874 = 1,080
— B A(GFH) A= 50090 * 7,000uH = 3,500
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3000 ZAANE 3200 AGAAANYE 3220 FF

e =5
o 4b of At = 7] *
Alg A4 g =
—FAokA B JE=EFE 400,000 = 2704 = 800
OF-8 % FAF A 3] (=18,500)
— B3 300,000 * 35744 = 10,500
—A7IAA AA 8,000,000 = 8,000
%g%] 76,900
40,900 (01 ol H)
O719# €9 dFFx1olH| 2,500,000 = 2,500
OFEAY dFF9n 2,000,0009) = 2,000
On gty dFFx1olH| 2,000,000 = 2,000
OANZFZA GHFEF7 o) 2,000,0009) = 2,000
O7] B¢ 27 o] 1) 150,000 = 189 = 1294 = 32,400
36,000 |03 =<2]ofn]
Osf A7 e b 57 o] 4,000,000 = 39 = 33] = 36,000
FEa (i
3,000 103 A& F=31 ¢ F-F=X1H)
O719A1d AH-F=2m) 2,000,000 = 2,000
OF=A9 5511 1,000,000¢ = 1,000




3000 ZAAME 3200 AGAAANT 3220 FFHFdE 3222 FAVIANST 120 ABAAA¥ 203 PJFFXIH|
e =5
o AF o s = 7] *
A& A A & =
4,200 |04 F-A &G FF-F2H|
OF-AMEd 47714 350,000 * 129 = 4,200
A ea H200
1,200 |01 A A5 F-F%10]
OAAF JF-FA0] 100,0009) 129 = 1,200
e ue 5,00
33,750 |07 171 =)o)
O A GNHE 7ol e 7194 Faa A
1,500,00091 = 157 A = 1/2 = 33] = 33,750
1,200 |10 AR MBS
O714A4 Ael3] 3lo] FMA FAAE 6,000¢) * 2009 = 1,200
360 |12 71 EFRAE
ORHZEA 2% 4% T EEAAD
20,0009 * 38 * 6¥ = 360
2&% . 508,200
2;?}%] o 508,200
A Lo
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3000 AAAE 3200 AGAANLE 3220 FETHHY 3222 FAVIHANT 0 220 AAAS 207 AT
e =5
Alg Al Al & = A B N ’ =
1,200 |02 A 2F7]wkn)
OF 27194 AtolHAE FHolA] ¥ % FAH]
100,000 * 129 = 1,200
o gro] 4 102,000
62,000 |02 RIZHA SR Z
OFZvAY w{H Bx 2,000,000 = 2,000
O719 A A AAE 0S| 3,000,0009 = 3,000
OF=494 &, M5 A4 2,000,000¢] = 2,000
O 719l B9 Es uSArAd 5,000,000 * 23] = 10,000
O7I1A4A A 7= 25 BEAE 450,000 = 10070 A = 45,000
40,000 (04 RIZFPALH % - e
OCE0 AAIEH =FA ] 4,000,000 * 10%] = 40,000
7k 0] 4 402,000
402,000 |01 F17FAFE-H 2
O MNHA A AlgH] wE 70,000,000¢) * 33] = 210,000
OF&27149 AT AREA BE(AHES
100,0009) = 40703 A = 4,000
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3000 ZAAME 3200 AGAAANT 3220 FIFHFdE 3222 FAVHPIS 220 AAAY 402 HIzEAREo] A
e =5
o AF o At = 7] *
A& A A & =
OF a7 el #AksE Ay 2,000,000 * 1571 A) = 30,000
Ol &) FHANFI = AgH] Bx 2,000,00091 = 407HF A = 80,000
Oxrgrs] 7 Al A4 1,500,000¢ #1070 ) = 15,000
OF&R7I9AF dA &3 7 A
1,000,000¢) * 1071 A = 10,000
OZFHBESFAE JFAA 21715 Axdreds] 274
1,000,0001 = 1070q 4 = 1/2 = 5,000
OE53 7= =91 Ay #d 1,500,000 * 157R 4 A = 22,500
OFABSFAE GFAA AN F94449 Bz
1,500,000 = 177] |A| = 25,500
Tt b
3,000 |01 A EEH 54|
OZAEA B HAAF M AL =EHR -9
3,000,0009) = 1t} = 3,000
iﬁ?ﬂ] . 1,553,000
‘%OE} 1,553,000
;?2%@%% 1,553,000
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3000 7 A 7N 3200 A <A A Nt 3220 FE¥dHy 3222 EF=2719AZ 420 7)€} 702 7EAEE
3} =
o Ak oH 2t = 7] %
A&k A A& =
OFa7|d54715 AEF 1,553,000,0009 = 1,553,000
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